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Precalculus Midterm 2018 Exam Review #2 Questions Name KEY
Complete the following problems on a separate sheet of paper

c*=at4pt
1. Evaluate sin[arccos%}. ;r‘ 0"‘ 1\13:;3-1 g,‘l‘:):.‘# 2| Sing= ﬁs \_J;-g
L1324 0 g ° 19% 42 = [{oes |
X | X b= Jig
2. Find the point (x, y)on the unit circle which corresponds to the real number 7 = -57 .
(-1,0)
1| o
‘ —_ J?7
3. Find sec@ given that @ lies in quadrant [IT and tan =6. . 56c6 = :-T
C-z: q?—+ bi - -
czzln2+(-0* - -+ AXE,
=37 1
¢= 5
4. Find the six trig functions of the angle ¢ (in standard position) whose terminal side passes througi;l_
(-8): €2 (4)*+(-812 =-8 J5=-205 (scos ~YS
ine= A5 = -2
y c*: 8o N :I-}s Us S *
g &% cose= Lol = 2 s seco= Us
= 4Js 4
" ¢ Tage: -£ = —2 Cot o= -3
5. Find the amplitude and period of y =—-6cos §+7r -2.

amplitvde =1-61=¢6
pPecriod = ‘%"—' 2%1‘: s = G0

6. A ship is 45 miles east and 30 miles south of port. The captain wants to sail directly to port. What bearing
should be taken? N

N7wW
= 5
" 7ané 2)
tan' L
" 3o N56.31° W
o
7. Find one positive and one negative coterminal angle for— 0 % 5¢.3/

¥ Add or svbiect muldipies of a2
27.9 = + 2 =| 20 2727 . DT . IO = Eve
190 = F+47 13| F-72=-2T-4% %

; 17
8. Find the reference angle for 3

T
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9. Find the 5 remaining trigonometric functions (ratios) given tan /= —— and sin ¢ > 0.

,_S‘_A' 13 sino= ',"‘ esco= 13
€05 0= "3 seco= --Q

_..n. -5

Tane = Cot @ -

10. A plane flies at a bearing of 197° W after leavmg, an airport at noon at a speed of 350 miles per hour.
How far south and ;1}>w far west is it from its point of departure at 2:30 PM ? :
350 mph + 4.5 hes = 875 miles
276° = 197° = 73° il
; o= ® =
e Sih73 .‘27? Cos 73° = 1
g7s Sin73° =5 875 cos 73° =W
S= 836,77 miles South | W= 255. 83 mles wesi-

11. Find the reference angle 6’ for @ =k[— 12. Evaluate c¢sc3.92. Round to 4 decimal plac7s
5 | ¥ eadians mode !
18 ) (no ®)
). "8 Q- = Sin 392 o
N ] ‘@r ©
0'= S 2 2 =|= L¥242
? g "
13. Find the five remaining trig functlons given cotf = —E and cos@<0. 12
5.4 L\ ] 22a%b* gnol’)S  esco=

- ¢?= 289 k0= -8  seco=--Y

. l e=17 . .

Tane = -3 Cotes -8

14. Find the exact value of arccos[—T)z% -2 _ _. :
o 202 U2

ﬂ' mt;\ C-,0?
~1

P ° 0'=% e:3F arccos(‘%i)=3-$r

15. Sketch one full period of y = lan[Zx— ‘l/ Shid1 :g~ 24

St b);(,: =} END: r;zx-c.s T 1 L x=ar x-3r
AX-Ip == s2x= Ll 2= F [ T
Lo W R ] v'-{}/r 2x: Faed If' ’,’ (013, (F,0

2x= "'"'1-1; 4.2 x= g xs ?
16. Sketch one full period of /(\)——&csc(\ 4;:{-7)+1 & Shid1 ")
¥ graph gl\= -Sin (X+ M+l pefiect Shift T left

period: eJF = 2T = 3T over 3-AX13
Smet: ba-¢ =0 Asympiores: X=-T , ¥=0
X+ 0  X=-m X=m
EWD: bx-Cc= 3T poins : (-¥,0), (%,2)

X+w =27 X=7
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For the following, sketch the angle in standard position and determine one positive and one negative

17.
q

coterminal angle
L c. 405°

llrr b, 237
3

%‘ 405°-3¢0° =[us®
45°-3¢0° = |-315°

- T, 3T = e

g7 7 < s g

4 A
Rt R A1 D A el A A

y)on t ¢ unit c1rcle which corresponds to the real number 7 = e

r_
G’
3T

G’

-QL': ‘“[*

18. Find the point (x
1 I=
z o' ¥

.i o=-g.

19. Evaluate, if possnblc the 6 trigonometric functions of the real number 7 =27
esc©= § = unde,

Y Sind= O
/J (1,0) Y os0= | seco= )

- 0,27
< Tane = Q=0 Cote= } = undef.

) u_/‘

20. Find the exact values of all 6 trigonometric functions of the angle in the following 9
right triangle: c?=a*+b? 5
O E IR RE SRR 5 P e
5 JE = |1V b*=s¢ 2y
¢os0= | 200 Seco=
an " 5 b=2Jr
1no = _s. Uy sd_'a tote= |24y

A0y Ty
21. A wire runs from the ground to the top of a 25-foot telephone pole. The angle formed between the wire
and the ground is 52°. How far from the base of the pole is the wire attached to the ground?

tans2°= Z;'?‘
Xtans52°® =25

a5' b
X= 25 A

22.  Find the six trig functions ’(‘)'f the gngle 0 g‘n standard position) whose terminal side passes through

(6,-8) 20> +-?) sino= —-8 = escO= __g‘

¢?=100 el

. e=10 €oso= & =| £ | seco= |3

n —

-8 Tane = - Cote=|-3

T e
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s | K h

= (-]
23. Find the 5 remaining trigo;'lomg:ic fzunctions (ratios) given csc /= 3 and cos ¢ < 0.
- b . = - .3
N é)‘im‘ 2 Sino E esco 2

- - . - E

= 5= b2 €08 0= seco= R 38

° [ b s 12n0 = G2 [2F|  cotes [-45
8n S

24. Sketch in standard position and find the reference angle for 3

1= 2T le= Divstance closesr 4o X-Axis
o | 6 l . 0 5 ¥ Referenca A NTANcE

1 . X Always positive
\r ¥ Always acuic
25. Evaluate sine, cosine, and tangent of —ﬁwithoutacalculator. TG r—
n - - A =| V2
N o=z S HewGE 7| T
O L{ '51'? = "J- -__JE- = g
R 0 q° 1z a

tan -sf - 3+ =|-
For # 26 & 27, find amplitude, period, range, phase and vertical shifts where applicable. Then, sketch
one full period for each function. Identify all key elements.

Rame: L-7,4]

X
26. y=28 = |+1.
5,y cos{4}+

ampliwdle = §
pgriodz- -?£-21’r.'! = 8T
vertical Shrﬁ ' vp) Phase sh1 : honé

. o x=o END bx-¢32T
smrt! bx-¢=0 % =0 x=o 45-.-21:' x=3T  Points: (0,9),(27,1),(4T,~7),

27. y=2cot(2r). (87,9)
ampl)tvde ! none ST ! bx-c_uot 5 Asymotoies: x=o, X=I¢
period = = 2Tt =o zo 1
phase Shi#t : none 2e=7m z=F
vert. Shi¥T ! hone

28. Evaluate without a calculator:

——

a. arcsin(—%]:' “q b. cos'(0) = j}: c.
C, 13 7v
i lv !
X LE ,al AT What /T\ o Pt what

amgi is © angle is
S TN s

29. Find the exact value of the expression:

a. cos[ arctan 2] g 5 b. cot { arcsin (_ QD
4 v K 3 13
(-00,0)? ) T

X
Coso !_l ! eto= 2
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